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pJ 54,000 54,000 0
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B =M MY X4 332,959 63,145 269,814
= 79,700 5,000 74,700
Al 218,664 12,400 206,264
= 34,595 45,745 A11,150
AT 37,966 24,785 13,181
Al 12,131 0 12,131
= 25,835 24,785 1,050
HEWURSS 2 11,150 9,550 1,600
201 et | 10,650 9,050 1,600
01 At 22l 10,650 9,050 1,600
OBZMWELLYZ NN M 9,160 7,560 1,600
-O0CRIXIA HJI2 M HF 8,800,0008 8,800 7,200 1,600
#HYL XX 900 1,000 A100
203 &R F Tl 900 1,000 A 100
03 Al EX Y@= 900 1,000 A100
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stecAEE I 2l 12,131 0 12,131
Al 12,131 0 12,131
201 et | 12,131 0 12,131
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01 At 22IH| 10,891 0 10,891
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Al 1,000 0 1,000
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OOE L 29 U2 FH(LEA) 1,000 0 1,000
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S8R 8le € HAXZ 500 0 500
Al 500 0 500
201 Let24E] 500 0 500
Al 500 0 500
03 & Ar2 Gl 500 0 500
OsEX gle & 29 500 0 500
Al 500 0 500
Netadss ad2d & 11,000 0 11,000
= 5,500 0 5,500
Al 5,500 0 5,500
201 Let24d] 8,300 0 8,300
= 4,150 0 4,150
Al 4,150 0 4,150
01 At 22l 8,300 0 8,300
OR4ItA M HAEHE S5+ (H8H) 5,140 0 5,140
= 2,570 0 2,570
Al 2,570 0 2,570
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Al 900 0 900

tores 316,039 272,739 43,300

= 109,200 84,000 25,200
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Al 139,200 121,000 18,200

- 13,639 13,739 A 100
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= 109,200 84,000 25,200
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Al 139,200 121,000 18,200
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= 109,200 84,000 25,200
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2 16,391 16, 101 290
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2 14,746 13,701 1,045
MBI 2R 41,987 41,802 185
2 16,391 16, 101 290
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- 14,746 13,701 1,045
NEFMYL e 1,900 2,000 A100
203 &2 E bl 900 1,000 A100
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SHEYNE RS 2+ 2,850 3,000 A150
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MBOFUAN U OIS 1,082 8,202 2,880
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